| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$\$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$\$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$\$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$\$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| \$ Arby's \$10 (8%) \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chilortie \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Wendy's \$10 (6.5%) S Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) S Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Salples \$25 (10%) \$ Salples \$25 (10% | | \$ | Applebees \$25 (8%) |
|--|------------|--|---|
| \$ Buffalo Wild Wings \$10/\$25 (8%) \$ Chilir's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazolir's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ SERVAN \$ Subway \$10/\$50 (6%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Jantity** **Total Dollar** **Subway \$10/\$50 (2.25%) **Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Chipothesia \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Sarnes \$25/\$100 (3%) \$ SARDES \$25 (10%) \$ SARDES \$25/\$100 (2.5%)% \$ SARDES \$25/\$100 (| | | |
| \$ Chili's \$25 (11%) \$ Chipotle \$10/\$25 (10%) \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) \$ Parasa Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Marres \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Marres \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (3.5%) \$ S Menards \$25/\$100 (2.5%)% \$ S Scheels \$25 (10%) \$ S Scheels \$25 (10%) \$ S Submine (Hawarden) \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cracker Barrel \$10 (8%) \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Etail Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Lowe's \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (3%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Menards \$25/\$100 (2.5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Staples \$25 (5%) \$ S Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Dairy Queen \$10 (3%) \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores **Jamity** Total Dollar \$ Aeropostale \$25 (10%) \$ Barnes & Noble \$10/\$25 (8%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (10%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (2.5%) \$ Subwar \$25/\$100 (2.5%) \$ Subwar \$10/\$25 (4%) \$ Subwar \$10/\$2 | | \$ | Chipotle \$10/\$25 (10%) |
| \$ Denny's \$10 (7%) \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Bath & Body Works \$10/\$25 (8%) \$ S Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ S Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ L'CPenney \$25/\$100 (5%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ S Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ Cabela's \$25 (10%) \$ | | \$ | |
| \$ Fazoli's \$25 (9%) \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdobs \$25 (7%) \$ Red Lobster \$25 (8%) \$ S Red Robin \$25 (8%) \$ S Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **santity** Total Dollar | | \$ | Dairy Queen \$10 (3%) |
| \$ Hardees \$10 (5%) \$ McDonalds \$25 (2%) \$ Olive Garden \$25 (8%) \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **Catall Stores** **Lantity** Total Dollar** \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ \$ Casey's General Store \$25/\$100 (3%) \$ \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (10%) \$ Shaples \$25 (5%) \$ Shaples \$25/\$100 (2.5%)%) | | \$ | Denny's \$10 (7%) |
| \$ McDonalds \$25 (2%) S Olive Garden \$25 (8%) S Outback Steakhouse \$25 (10%) S Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ SUbway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Manards \$25/\$100 (3%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25 (10%) \$ SCheels \$25/\$100 (2.5%)% \$ SCHEELS \$25/\$100 (| | \$ | Fazoli's \$25 (9%) |
| \$ | | \$ | Hardees \$10 (5%) |
| \$ Outback Steakhouse \$25 (10%) \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) Wendy's \$10 (6.5%) **Caser's General Store \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ Lowe's \$25/\$100 (4%) \$ Lowe's \$25/\$100 (3%) \$ S Kohl's \$25 (4%) \$ S Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) \$ Shaples \$25 (50%) \$ Shaples \$25 (5%) \$ Shaples \$2 | | | _ McDonalds \$25 (2%) |
| \$ Panera Bread \$10 (8%) \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Mazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (3%) \$ JCPenney \$25/\$100 (5%) \$ Marices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) \$ Shales \$25 (10%) \$ Dowe's \$25/\$100 (3%) \$ Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (2.5%) \$ Menards \$25/\$100 (2.5%) \$ Staples \$25 (10%) \$ Shales \$25 (10%) \$ S | | \$ | Olive Garden \$25 (8%) |
| \$ Pizza Hut \$10 (8%) \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) ** Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (10%) \$ Subway \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Subway \$25/\$100 (4%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Subway \$25/\$100 (25%) \$ Staples \$25 (5%) | | \$ | Outback Steakhouse \$25 (10%) |
| \$ Pizza Ranch \$25 (8%) \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (2.5%) \$ Staples \$25 (5%) \$ Target \$25/\$100 (2.5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Panera Bread \$10 (8%) |
| \$ Qdoba \$25 (7%) \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tail Stores **Sammetry** **Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ JCPenney \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Maurices \$20 (7%) \$ Shaples \$25 (10%) \$ Shaples \$2 | | \$ | Pizza Hut \$10 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) **tail Stores **tail Stores **suntity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Pizza Ranch \$25 (8%) |
| \$ Red Lobster \$25 (8%) \$ Red Robin \$25 (8%) \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ | | \$ | Qdoba \$25 (7%) |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Subway \$10/\$50 (6%) \$ Texas Roadhouse \$25 (8%) \$ Wendy's \$10 (6.5%) tail Stores tantity Total Dollar \$ Aeropostale \$25 (10%) \$ Amazon.com \$25/\$100 (2.25%) \$ Barnes & Noble \$10/\$25 (8%) \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ \$ Scheels \$25 (10%) \$ \$ Wal-Mart \$25/\$100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Red Robin \$25 (8%) |
| \$ Wendy's \$10 (6.5%) tail Stores tantity | | | Subway \$10/\$50 (6%) |
| tail Stores | | \$ | Texas Roadhouse \$25 (8%) |
| | | \$ | Wendy's \$10 (6.5%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| \$ Bath & Body Works \$10/\$25 (12%) \$ Cabela's \$25 (10%) \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%)% \$ Wal-Mart \$25/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | _ |
| \$ Casey's General Store \$25/\$100 (3%) \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants santity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Cenex \$100 (3%) \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | - | |
| \$ Fareway \$25/\$100 (3%) \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Scheels \$25 (10%) \$ Staples \$25 (10%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Cabela's \$25 (10%) |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | | |
| \$ Gap/Old Navy \$25 (14%) \$ Home Depot \$25/\$100 (4%) \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$ | Casey's General Store \$25/\$100 (3%) |
| \$ JCPenney \$25/\$100 (5%) \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| \$ Kohl's \$25 (4%) \$ Lowe's \$25/\$100 (4%) \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants tantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$ \$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) |
| S | | \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| \$ Maurices \$20 (7%) \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants nantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| \$ Mill's Fleet Farm \$25/\$100 (3.5%) \$ Menards \$25/\$100 (3%) \$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants Stantity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) Target \$25/\$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) | | \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| \$\$ Scheels \$25 (10%) \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) **cal Merchants **antity** Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$\$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| \$ Staples \$25 (5%) \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| \$ Target \$25/100 (2.5%)%) \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants antity Total Dollar \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| \$ Wal-Mart \$25/\$100 (2.5%) Cal Merchants | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| Total Dollar Santity Total Dollar Santity Santity Bomgaars \$25/\$50/\$100/\$500 (5%) Santity Culver's \$10/\$25 (4%) Santity Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) Santity S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| Total Dollar S | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Bomgaars \$25/\$50/\$100/\$500 (5%) \$ Culver's \$10/\$25 (4%) \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | cal Marcha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Culver's \$10/\$25 (4%) \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| \$ Hy-Vee \$50/\$100 (5%) \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ Sunshine (Hawarden) \$50/\$100 (5%) her \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| \$ | | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| | uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| , p | iantity | \$\$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| | her | \$ | Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |

| estaurants <u>uantity</u> | Total Dollar | |
|------------------------------|--|--|
| | | |
| | \$ | |
| | \$ | |
| | \$ | _ Buffalo Wild Wings \$10/\$25 (8%) |
| | \$ | |
| | \$ | |
| | \$ | Cracker Barrel \$10 (8%) |
| | \$ | Dairy Queen \$10 (3%) |
| | \$ | Denny's \$10 (7%) |
| | \$ | Fazoli's \$25 (9%) |
| | \$ | |
| | \$ | |
| | \$ | |
| | \$ | _ |
| | \$ | |
| | \$ | |
| | \$ | _ Pizza Ranch \$25 (8%) |
| | \$ | Qdoba \$25 (7%) |
| | \$ | Red Lobster \$25 (8%) |
| | \$ | • |
| | \$ | |
| | \$ | |
| | \$ | |
| | ٧ | |
| | \$ \$ | |
| | \$ | _ Amazon.com \$25/\$100 (2.25%) |
| | \$ \$ | _ Amazon.com \$25/\$100 (2.25%) _ Barnes & Noble \$10/\$25 (8%) |
| | \$ \$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) |
| | \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| ocal Mercha | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Cenex \$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) |
| | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/100 (2.5%)%) Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |
| ocal Mercha uantity | \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$\$ \$ | Amazon.com \$25/\$100 (2.25%) Barnes & Noble \$10/\$25 (8%) Bath & Body Works \$10/\$25 (12%) Cabela's \$25 (10%) Casey's General Store \$25/\$100 (3%) Fareway \$25/\$100 (3%) Gap/Old Navy \$25 (14%) Home Depot \$25/\$100 (4%) JCPenney \$25/\$100 (5%) Kohl's \$25 (4%) Lowe's \$25/\$100 (4%) Maurices \$20 (7%) Mill's Fleet Farm \$25/\$100 (3.5%) Menards \$25/\$100 (3%) Scheels \$25 (10%) Staples \$25 (5%) Target \$25/\$100 (2.5%)% Wal-Mart \$25/\$100 (2.5%) Bomgaars \$25/\$100 (2.5%) Bomgaars \$25/\$50/\$100/\$500 (5%) Culver's \$10/\$25 (4%) Hy-Vee \$50/\$100 (5%) Sunshine (Hawarden) \$50/\$100 (5%) |